MONTERINGSBESKRIVNING
ASSEMBLY INSTRUCTION

A-Frame KONFERENS ELSTATIV MED PROJEKTSARGAR
A-Frame CONFERENCE ELECTRIC STAND WITH PROJECT FRAME M502-1

@65 M6x25 8pcs i\

STRX 5,0x17 36pcs §

F6S M6x12 20pcs 7

F6S M8x16 8pcs ?
SF70-25 M8x16
Adjustable feet 6pcs
STFX 4,0x30 2pcs ?

STRX 4,5x45 2pcs

N

SF70-25M8x16 i

F6S M6x12

H'i MC6S M6x25

A :

F6S M6x12

F6S M8x16

STFX 4,0x30
handcontrol

STRX 4,5x45
trafo

1 ' 5,0X17
'
A\

2021-09-20 /




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7


